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3DSHU���0$���)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�

11 (a) 11 M1 
A1

 (b) 

4
� 3v  T

M1 

A1 

substitutes v = 2 eg 4�ൈ�2 + 3 or 8 + 3 
 cao 

correct first step to rearrange by isolating 4v or dividing each term by 4,  
eg T – 3 = 4v 
fully correct answer 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

21 +9
3
pa =

M1 for correct first step to rearrange 

eg   p + 9 = 3a ± 9 + 9  or 3 9
3 3
p �a
=  oe 

RU answer ambiguously shown eg  a = p + 9 ÷ 3  

or given as 
p + 9

3
 oe 

May be seen in different equivalent 
forms but must be carried out, not just 
intention seen. 

A1 oe 

4�

4�
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

23 (a) 25 M1 for (T =) 4 × (– 3)2 – 11 or 4 × (– 3)2  = 36 Can accept missing brackets 

A1 cao 

(b) 4
3
dp �

=  oe 
M1 

for a correct first step, eg. d – 4 = 3p or 
4
33

d p= +

or for 
4

3
d �

as answer 

May be in unsimplified form, 
eg d – 4 = 3p + 4 – 4 

A1 
for 

4
3
dp �

=  oe 
4�
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28 g = 2T 2 í 6 M1 for  T 2 6
2

 
g �   RU uT g �2 6

M1 
Can only award this mark if the first M mark has 
been awarded. 

A1 

(dep) for T 2 × 2 = g + 6  RU  � u �2
T g �2 6  oe

for g = 2T 2 – 6 oe 
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� �

�
x  y � 0�� IRU�FRUUHFW�ILUVW�VWHS�WR�UHDUUDQJH�HJ��y�í�� ��x�����±����

RU��
��

��
y x �
 �RU�DPELJXRXVO\�VKRZQ�HJ��x� �y�௅���·���

RU�DQVZHU�JLYHQ�DV� y � �
�

0D\�EH�VHHQ�LQ�GLIIHUHQW�HTXLYDOHQW�IRUPV�EXW�
PXVW�EH�FDUULHG�RXW��QRW�MXVW�LQWHQWLRQ�VHHQ��
&RXOG�EH�VKRZQ�DV�D�IORZ�GLDJUDP�EXW�PXVW�KDYH�
FRUUHFW�LQYHUVH�RSHUDWLRQV�

$�� RH�

4�

4�

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

30 (a) 
଺

ݍ ൌ ௣ି଻  M1 for a correct first step, showing a method of subtraction of 7 from both sides or 

଺
൅ ଻

଺
division of all terms by 6 eg   p ௅ 7 = 6q + 7 – 7   RU   ௣

଺
ൌ ଺௤   oe

A1 for ݍ ൌ ௣ି଻ RU ݍ ൌ ௣ െ ଻
଺ ଺ ଺ ଺

Allow 1 ଵ 
଺

for ଻  
Award for answer without “q =” 

 (b) m6 B1 cao

4�


